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l. ЦщршOрЕhр, ш.lц p{nrrl' 105,809,590
.{шпЬl[tр lr рчш;пtцhр 71,478,000

091з2200 PbLqhL пЬqпLllшр с< 44о з1,240,000 7] 000
09134220 '}hqblmthtj L]шпhhв (EN 590) с< 445 22,250,000 50000
09121700 FtrшЦшL qшq рсu] fuпп. d. 200 ]5,000,000 75000
0912,|400 (ЬппLЦ щппщшtr qшq с2 Цq 350 140,000 400

09211600
<hцпrr.lфЧ hшrlшQшрqЬрпLd [r ш11

Uщшuпш!LЬрп { оqшrшqпр6{п11 1nLlbp
с< t 1,000 2,800,000 2в00

09211820 lrшt]ршlhtl lпrпЬп, шtп rаdnLrJ' rlhuUnqhtl с< 1,200 48,000 40
U;nLphp, 2[tЕшЕ;пtр, щшhЬчшrшrIшчЬр 33,041,540

39563400
(шqЬg{ш6, щшшL{шб \шrJ бшЕQпцрп{ ЩrлпрtrЬр,

дLцшdЬЬд ш.lц p{nLd'
с< Чq 52,650 7,152,000 14з0

fuбпLб fuFЦ N.10 с< Uq 4,650 69,750 15

fuбпLб fuPrгlNs ]2 с< чq 4,650 69,750 15

fuбпLб fuFЦ N,lB с< чq. 4,650 465,000 100
fuбпLЕ fuFTlNs 20 с< hq 4,650 697,500 l50
fuбпЁ fuPT|M 22 с< Uq 4,650 2,092,500 450
fuЕпLб fuFclNe 24 D< Цq 4,650 ,1,627,500

350
fuЕпtб fuFT|N,26 с< Цq 4,650 9з0,000 200
fuбпLб uhtltabrлhLr N.24 с< Цq в,000 800,000 ]00
fuбпLб uhtrвhrлhU N.26 с< Uq в,000 400,000 50

44111446 tJblnLu|r5tibp, шlц BLlnLd' щшппLhцr Tl01_1 с< Цq 1,720 172,000 100
44311160 lrhrлшпшбппЬп, шtп Bdnrrl' СТ-45 щппшшuпhо с< Цq 700 934,500 ,lз35

44423570 alnn$htLbn (6l,rbn), пLпшIIЬLп, шtп Bdnrd' с< o6.rJ l00 1 9,000 ]90
[IЬrлшцшl,,1шtr шLЦ tn йш h N=40 с< o6.d 100 6,000 60
[JЬrлшпшUшЬ шLUtпLLшL N=50 a< q6.d l00 1з,000 ]з0

441 1 8000 [-ГЬцrшпшLшL Bhtаbn 1хlх0. 003d с< f 2,140 29,960 14
44118000 tIЬшшrlшl]ш[l BhBbn 1xlx0.005d с< d2 2,14о 29,960 14
1 951 0000 Црtлш4ршtrв LшпLlпLЦhq, шtп Br.|nrd' с< hшш 5,000 90,000 1в

fuqnq пЬrлhtJЬ 1 05х8Oх1 0 с< hшш 6,000 36,000 6
fuqnq пЬшhtlh В5х1l0х10 с< hшrл 5,000 30,000 6
luqnq nbr.rrhtrb 95х70х1 0 с< hшш 4,000 24,000 6

44112280 [JЬtлшпшUшtr hЬбшLtrЬп N В0 с< Цq 6,700 670,000 l00
441122в0 [IЬrлшпш[iшL hbбmtltlbn N 100 с< uct 7,500 900,000 120
44111200 3bdbLut с< tл 55,000 в25,000 15
l4211113 ЦLlшqh tr dшtrпшfuбh tuшпtrпLпп с< dз 2,7о0 216,000 в0
44з11180 ЬпшЦqdшL trlnLBbn, шtп BdnLLI' hЬUиппп с< Цq 1,000 450,000 450
14711200 Г}пL9Ь бпLlr.|шбв, шtп Br]nLd' с< Цq 4в,в36 3,22з,200 66

tlпшL'l0 НмК-2 с< hшr_п 16,000 12в,000 в
ttпшL 12 HflC с< hшш 8,000 з2,000 4
tпшtl 14 Мl2х4 с< hшш 24,000 144,000 6
цtпшL 20 Д-6 с< hши 24,000 48,000 2
rlпшtl 24 Н.ЩС с< hшLп 2в,000 112,000 4
Рщшqdшtj on'l0 НМК-2 с< hшrrr 19,200 15з,600 в
РщшqdшIJ on 12 НДС a< hшLл 12,в00 51,200 4
РщшqdшЬ оп'l4 М ]2х4 с< hшш 19,200 230,400 12

Рщшqdшtl on 20 Д-6 с< hшш з6,000 144,000 4



РшшоrJшL оп 24 НДС с< hшtл 128,000 1,2в0,000 l0
Цэfu шr"пшtrошlhЬ mtlhtl 1 0 НмК-2 с< hшшr 225,000 900,000 4

14620000 (ш dшб n Llr{шбрL Ьр, шlq pL{n td' рр nLqb б n rl{шбр с< Чс 5,550 ]11,000 20

24111180 ГdвЦшёhLt с< rI3 590 205,з20 з4в

424,|8600 9п rл |r п L{ ф п fu ш Q р [1Ь Ьр Jl (Q пЬ {blbpL Ьр |) dш u hр,
,.._ л.l_..ft .Lль,,,.l.лL., L .}.,.,,,,,,, lt=t,

с< q6.d 19,400 194,000 10

44440000
Цпшtlgрш Q ш 1tr Ьр, ш1 ц pr|n LrI' рш p|r rл ш1 |rtl

шпшtlоршltшr 24 lэ'}U щпdщh hшrlшп
с< hшLп 160,000 1,280,000 а

44440000
ЦпшLgршЩшlЬЬр, ш1ц pL{n LrI' ршр|Lпшl|rtl
шпшtrоошLшr1600 hr.lrл El. rшпdhlh, rlbб

с< hшrл 160,000 1,280,000 о

44440000
ЦпшЬgршЩш1trЬр, ш.'1r1 pL{nLrJ' ршp|rrлш1|rtl

шпшLqвшЦшr1600 Цr.|rл hl. rmndhlh, фпрп
с< hшrп 150,000 900,000 6

421з1270 ФшQп11 фш!шLLЬр nLlqшhш.lшg ч!ш{шпш[4пL{,

-t,л,,,,fl-t,л,,,,л^,lл,,I'
L( hшrл 65,106 2,488,600 ]09

ФшLшЬ 1/2" с< hurur ],400 46,200 JJ

ФшЦшЬ 3/4" с< hшrл 2,000 з0,000 15

фшLшЬ D=50LId с< hшrп 2,750 11,000 4

ФшLшtr D=100dd с< hшш 22,200 44,400 2

фшLшL D=l2Odd с< hшш 20,000 1в0,000 9

фшUшtl D=250dd с< hшrп 20,000 l20,000 6

фшLшЬ D=25dd с< hшrл 4,000 120,000 з0
фшLшЬ D=ЗOOrIrI с< hшrл 90,000 450,000 5

фшLшL шппшшшlш ф=400 dd с< hшtл 128,000 512,000 4

Фш[rшL впLоh ф=500 rld с< hшrл 975,000 975,000

421з1200
tI|шt,;пldшЬ|t qпрбпцп LрlшЬ фш!шtlttЬр,

шtп tаьlnLd' hшLшпшпё фшUшtr ф=600 dd
с< hшш 600,000 з,000,000 q

42141140

ЦшшdLшr|пр фп[чшLgr,lt,Ьр [r шшшIJLшL{пр

фпfuшhghltJЬр|r ишррЬр, шlц pr{nLrl' hшрр
lhrllllrrrtlh nbnnllltnnn

с< hшш 160,000 320,000 2

42131450
<hцпrr{фЧ фшl4шtltrhр|r 2шрdшЩtrЬр, шlr1 pL|n LrJ' |1

. hшlпрцш! D=1000dil фшl4шL| hшdшр
U( hшr.rr з00,000 з00,000

421з1450
<hцпшr.lфЧ фш!шЬLЬр|r 2шрdш!LЬр, ш.lц pL{n LrI'

h1. hшlпрцшЦ D=400dd фшЩшtl|t hшtlшр
с< hruur 250,000 750,000 з

з9292530 Pmtrntllrbp rlhLrrшryш, цtrцшrIЬЬд, U( hшш 3,500 70,000 20

Qршlшфш!шtr рiлtlпtr 0.5 tl с< hшLп 2,з00 23,000 10

QршlшфшQшtr ршtrпtr 1.0 tI с< hшш 4,700 47,000 10

44531,190
Ьрt4шрh !шd rлпlr4шLпЬ rrlшрпLршЧ*l{пп

шr4ршtlрЬЬр, шlц pr{nLrI' hЬцп Lu-timLb[1
с< hшuп 1,800 1,в00,000 1 000

з1 1 611 00 klЬЩurrршQшtr 2шрd|ltlЬр| rJшuЬр, ш.lц pL{ntd' |1.

rшпdhсh опшьhrлшlhL hпuошhшIl
с< hшLл 1,в00 72,000 40

42651200 tbnp|r hlЬQш р ш rJbfu шtl|r 14 ш 14 шЬ qn p6|pL Ьр, шjt1

^,lл,,f,

,с< hшш з5,000 210,000 6

Чrлппп. hnlrnn uшпо с< hшш 40,000 120,000 J

[l. эшпшй с< hшrл з0,000 90,000 J

з1 4з1 1 00 ЧшщшршррL{ш;|tr ЩпLишЧhttrЬп, дЬцшrlЬtrр, с< hшtл 37,500 900,000 24

ljmnr"rrtrnotrbn 65 Ц с< hшш 24,000 4з2,000 18

[IшпLпЦпqtrЬр 200 Ц с< hшш 7в,000 46в,000 6

34350000
бшIrршршр2/rIшрцшrrrшр фпfu шцршLlfigпgЬhр|l

шtr|{tlЬр, цЬцшdЬЬр, ш.lц pL{nLrJ'
с< hшtл 51 ,13в 4,449,000 87

[ltltlшппп Чп[l2 с< hшчr 150,000 1,500,000 10

Цtlrlшппп 9шq-53 с< hшчl 65,000 з25,000 5

ЦLr_lшппп l\d-2171 с< hшш з0,000 240,000 а

Цtlrlшппп 1,rhччшtl с< hшtл 100,000 400,000 4



lltlrlшппп Qшо-Зl10 с< hшш 35,000 560,000 lб
ЦLdшппп LlU2-21099 с< hшш 30,000 240,000 а

Цtrdшппп L]_U2-21213 с< hшul з2,000 1,024,000 з2
[ltrrlшппп ПГ.L12 с< hшrл 40,000 160,000 4

StitлЬчш!шЕ шщршfiрЕЬр 410,050
,l8141100

цrfu шшшьршlhtl бbntlnobbn с< qntJq 140 42,000 з00
1 вв111 30 ЧшпLsпLUhq бшршdпп Lnrhhbbn с< qnLlq 2,900 116,000 40

44511130 ЦtсЬсппбшЦшL ЬпшЬtlЬп с< hшш 1,550 31,000 20

44511 1 1 0 FшhЬр с< hшш 1,180 з5,400 з0
44511120 9пqшр|tшllttЬр с< hшш 1,1в0 з5, 400 з0

44511з90 с< hшm 500 40,000 в0

44521170 ЧппrлЬв с< hшш 2,220 44,4оо 20

4241522о UшttшЦ рhпtrшrлшп, LIЬЦ шЦпtl с< hшLп 17,000 51,000 з

44511140 Ptntbqtlbn с< hшtл 2,70о в,100 3

44511200 tьпвh unnqLbn с< hшш 1,350 6,750 Б

]hýЕшЧш0 tI[lng0bp 600,000

42661400
ЬпшQgrJшtr |1ЬЩLпрш1,4шL uшррЬр, ш14 pr{nLd'

2шрdшЩшtr Ьпшl4grJшL шчшпшш рЬtlфLшl[tl
ar l lп.}Ьr nr l

с< hшш 600,000 600,000

ерhOшЩшЕ щ[шпцрOhр L qршчhti;шl;ш;[0 0;ntpbp 280,000

з01976з1 $nhnL рпLпр А4 Sппdшшh l21x29.7l с< LппLф/ 500 2,з00 2з0,000 l00

з01 97646 Чпhпr впLпв А3 Ьппrlшrпh l29,7x42l с< шпLф/ 500 5,000 25,000 5

з9263200 QпшuЬtltшЦшthЬ qhnp, rIшrлlшtl с< hшш 1,000 25,000 25

ll. Ошпrч;пrр;пtЕOЬр, ш.lц p{ntil' 19,430,000

72411 000 (шdшqшtlqш lhb бшпш tn LBtnLtltlbn с< ппшd 180,000 1

50з21400
|-ршgп Lg|i (6шlршdшчш1|L) uшррЬр|t

LlЬпш[rпппоdшЬ бшпшtпtвtп LtlLbn
с< ппшd 150,000 l

50з11240
rгlшrлбbLшhшtrпr1 uшррЬр| r{bpшtlпрnqdшtl

бшпшtпLаtпLLLЬп
с< 4пшd 100,000 1

505з121 0
hlhЩrлршllшtr 2шрd|lLЬр[ {ЬршЬпрпqdшtl h

шшhшшtrdшL бшпшtпLвtп Ltrbbn
с< цпшil 19,000,000 ]

ЕO4hшOпtрд 125,239,590

/SOof bO|r tцш2шпOшЩшrлшр ({ U. 1пL|hш00[ulш0


